
r:-iE 
� E 
-- CX) 
� 

L___J L!) 

M6x8 

,----, 

<D E 
� E 
('t")c:, 
� CV) 

L___J 

E 

[3/4"] 

[ 5/8"] 
016mm 
[ 3/8"] 
9mm 

A"-G19I2 Witheut "-•11 
A"-G19I2-1 With "-•11 L 3' (1 m) 
A"-G19I2-2 With "-•11 L ,4.' 11" (1.5m) 
A"-G19I2-3 With "-ell L i' (2m) 
ARG1902-4 With Rod L 9' (3m) 

� E 
CO E 
� L!) 
CV) . 

L___J -.::::1" 

19mm 

[ 1 /2"] 
13.2mm 

[1/4"] 
06mm 

[3/16"] 
05mm 

SECTION E-E 

SCALE 1.5: 1 

[I] GJ 

M3x5 
/ 

M3x5 

rn 

rn 

8 

M4x6 

ITEM NO. PART NUMBER DESCRIPTION QTY. 
1 RG1902A 1 

2 RG1902B 1 

3 6mm Rod 1 

4 RG1902C 1 

5 M6x8 Réaliste 1 
6 PE cap 1 

7 M3x5 Réaliste 2 

8 M4x6 Réaliste 1 
Title: 

ARG1902 -E]-Œ'L �S_c_ale_:1_.
� Sizes: Letter Landscape Customer: 

Material : Fini sh 
Qty: Rep: 

�N -0pr-og-ram_ m _ e -las -er-+-N- 0p_ro_g_ -Mé-ca-n u m - . - --+-- -- -�- - -- -----< 

N
° 

Plan : RG 1902 


